—— A
N = 0] &F AF S & AN A
20228 = 20l A LB H sEEE
2N sEERED
HE: sEMEEY JNEE
Sl sEMEHY Fyl (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SE=&& ) 116,687,792 122,650,803 AN5,963,011
= 2,310,189
g 75,501,000
Jl 548,000
= 38,328,603
SEMESH JetE s 115,711,592 121,989,423 NG,277,831
= 2,310,189
g 75,501,000
Dl 548,000
= 37,352,403
SEMESH HH| 97,941,490 101,161,750 N 3,220,260
= 250,000
g 75,501,000
= 22,190,490
AJIE2 Y 0S| 1,667,290 1,767,500 A 100,210
201 et 9| 72,950 72,950 0
01 AP 2t 2] d| 72,950 72,950 0]
O3S I ¢ =2 22,950,000 22,950
OlISo¢sSIIAMY 43 28 50,000,000 50,000
202 04d| 11,050 11,050 0
01 2L HI 11,050 11,050 0
O&JIES slYNS BEI| YREX
11,050,000 11,050
306 52 480,790 507,000 N26,210
o1 s 2 480,790 507,000 N26,210
o s)| s24XNJA4dH 24 480,790,000 480,790
307 2I2t0| & 42 500 42,500 0
02 IZHBAAIE E X 42,500 42,500 0
onrss) sotel &4 42,500,000 42,500
308 XX G SOl A 630,000 630,000 0
01 AIXISHHEMNEX= 630,000 630,000 0
O0IsetE)| E2tX R XA (Al2)
630,000,000 630,000
403 XX SHS K20 & 430,000 504,000 A 74,000
01 XIS A2E X 430,000 504,000 A 74,000
Ogdots AsiALY 430,000,000 430,000
Al a2 5t 3,041,500 3,483,900 AN442 400
Fag 2,695,000
& 346,500
308 XAXISHMSO0|& 3,041,500 3,483,900 AN442 400
Fag 2,695,000
& 346,500
01 IXHHIMNEXS 3,041,500 3,483,900 AN442 400




2N sEE2E
MM E=EMEEH JEtE =
Sl sEMEHY Fyl (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OAZd 23t 3,041,500,000 3,041,500
Fag 2,695,000
= 346,500
MNEEE A 11,270,000 9,310,000 1,960,000
Fas 11,270,000
403 XX SHHS K20 & 11,270,000 9,310,000 1,960,000
g 11,270,000
01 XIS A=2E X 11,270,000 9,310,000 1,960,000
OodszaZHA 11,270,000,000 11,270,000
= 11,270,000
FO=C OISCED] N (KXSHHA)(E) 130,000 130,000 0
= 65,000
o= 65,000
307 2I2+0 & 130,000 130,000 0
= 65,000
o= 65,000
02 DIZEBAAIE E X 130,000 130,000 0
O=sE2 483 XM 29 130,000,000 130,000
= 65,000
& 65,000
SHEY 022 =0] 3,660,000 2,400,000 1,260,000
403 XX SHHS K20 & 3,660,000 2,400,000 1,260,000
01 RHXISHIEEE 3,660,000 2,400,000 1,260,000
Os4dd 0S| 3,660,000,000 3,660,000
SERSANEEE HIAIAY 135,000 0 135,000
= 135,000
403 XX SHHS K20 & 135,000 0 135,000
= 135,000
01 XIS A=Z2E X 135,000 0 135,000
OsEssANdes 2R 135,000,000 135,000
= 135,000
SETHAM SRS 100,000 0 100,000
= 50,000
o= 50,000
307 QI2t0| ™ 100,000 0 100,000
= 50,000
= 50,000
02 QIZHBAAIE E X 100,000 0 100,000
OsZ=MA SAX & 100,000,000 100,000
= 50,000
& 50,000
SESANEHS(EEXTR) 1,522,000 6,352,000 4,830,000
2 1,384,000
& 138,000
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2N sEERED
M s ZTHEEE JEt=E
Sl sEMEHY Fyl (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 1,522,000 6,352,000 A 4,830,000
2 1,384,000
< 138,000
01 X SHMA2E X 1,522,000 6,352,000 A 4,830,000
OsEsdXgds(d=X7)  1,522,000,000 1,522,000
s 1,384,000
< 138,000
SEZTHNELS(LEXR) 2,525,000 12,536,000 A 10,011,000
as 2,393,000
< 132,000
403 MtXISHHE X201 & 2,525,000 12,536,000 A 10,011,000
as 2,393,000
< 132,000
01 XM A=2EE 2,525,000 12,536,000 210,011,000
OsESaXgdst(LBX+) 2,525,000,000 2,525,000
s 2,393,000
< 132,000
SESH L5 14,636,000 6,504,000 8,132,000
s 13,305,000
< 1,331,000
403 X SHSKH=0l & 14,636,000 6,504,000 8,132,000
s 13,305,000
< 1,331,000
01 X SHHMA=2LE L 14,636,000 6,504,000 8,132,000
Os&EsdNeadst 14,636,000, 000 14,636,000
s 13,305,000
< 1,331,000
JzMENE=EH 37,609,000 36,400,000 1,209,000
s 37,609,000
403 XSS A=0l& 37,609,000 36,400,000 1,209,000
s 37,609,000
01 HXSHMA=2E X 37,609,000 36,400,000 1,209,000
OJIZdENEsY 37,609,000, 000 37,609,000
s 37,609,000
FAXNA HE(sUHE) 7,578,000 5,457,000 2,121,000
z 6,845,000
< 733,000
403 Mt S E X201 E 7,578,000 5,457,000 2,121,000
s 6,845,000
= 733,000
01 XM A=2EE 7,578,000 5,457,000 2,121,000
OF AR MEHA H=E 7,578,000,000 7,578,000
s 6,845,000
< 733,000
PSR R ) A 12,591,700 15,066, 350 A2,474,650




SN sEED
B sEMEZ NS
Sl SEMHEHY T CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
403 XXM S X201 12,591,700 15,066, 350 A2,474,650
01 AXISMA2E = 12,591,700 15,066, 350 A2,474,650
OF=83&d Hd 12,220,750,000 12,220,750
OUY M=K =82 F=H AHANLE2 & &
A X (ZEA) 45,000,000 45,000
SAE Jlore ResSSHA LT E FHI(
SOEN) 72,000,000 72,000
OJIAHsEAZ & SHZ HHUHIE A% &
EFH(ZUEA) 13,500,000 13,500
Olizd® &42 Mol=IE8X 7 FH(ZUEA)
30,000, 000 30,000
O#=2 Gl SAH(EBA SHS 5478 ~ =
2HY 22)(=2&EA) 12,000, 000 12,000
OBtUE 4358 HN2s =2 FUl(38 =H
RIEE HE)N(EEAH) 90,000, 000 90,000
OAM2l DISer HASY X4 L Fu|(S2a
o) 11,250,000 11,250
OZDMa=X =¥ 2% 5| & BAEHI(E
OI=O) 4,200,000 4,200
OL20l OlE02 FudH dt=3& MIU(Z
OIE0O) 6,000,000 6,000
021 Ae g8 42 =4(ZUEA)
6,000,000 6,000
O& el 22 2 dHZE(Z2EA
6,000,000 6,000
OEdel 22X 2H(Z2&0) 6,000,000 6,000
O&=Ilofl ol OIS+ FH(ZUEA)
3,000,000 3,000
Os&H 2 JII28 AX(=U&)
6,000,000 6,000
OS4H AtMel -2 (ZQEO)
9,000,000 9,000
OS4&H AtSel MEEH(SUEN)
9,000, 000 9,000
OUl=™ statel Mool th+2 (=&
o) 9,000,000 9,000
Oolstel M&E S#FEHI(=21&0) 9,000,000 9,000
Odlatsel &= S#FFU(ZUEA)
9,000, 000 9,000
Oz &Fel Moo =2 FH(=U
o) 6,000,000 6,000
OF=ZMe d2dH el s FH(E
oIEo) ,000,000 9,000
o g HBAEZR 1,350,000 0 1,350,000
403 XXM s X201 1,350,000 0 1,350,000
01 AXSHMA2E = 1,350,000 0 1,350,000
Og=ReldZz2E=2 1,350,000, 000 1,350,000
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sxgay
HE: sEMEEY JNEE
& sEMEEZF FH| (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEgs =8 AsHE iz E g4 126,000 340,000 A 214,000
403 UHXISHHSA=0l& 126,000 340,000 A 214,000
01 XM= E L 126,000 340,000 A 214,000
OllEs =¢ AsHHEH=E &4
126,000,000 126,000
sEX SN 1,381,000 1,936,500 A 555,500
JIAS B3R Z S IR 1,381,000 1,936,500 A 555,500
403 XIS S X201 & 1,381,000 1,936,500 A 555,500
01 XXM 22 = 1,381,000 1,936,500 555,500
OJIAsE&EZ SZE(XH) 1,381,000, 000 1,381,000
SHIIEAE &= 6,277,500 7,190,500 913,000
motst22d x4 6,277,500 7,190,500 A913,000
403 XIS E X201 H 6,277,500 7,190,500 A913,000
01 X SHHA2E= 6,277,500 7,190,500 913,000
OEt=2 &Yl 6,277,500,000 6,277,500
sEMY=sY 7,558,925 9,552,050 A 1,993,125
= 813,500
J| 548,000
& 6,197,425
Nace s=8=sga4ed 845 (%) 877,000 1,060,000 A 183,000
= 438,500
< 438,500
306 2 877,000 1,060,000 A 183,000
= 438,500
< 438,500
01 &3 877,000 1,060,000 A 183,000
OsEg=a4e ST L AS
319,000, 000 319,000
= 159,500
< 159,500
Oz &g 833 288,000,000 288,000
= 144,000
< 144,000
OoXdce RSE23 24 270,000,000 270,000
= 135,000
< 135,000
Nace sZ8sg4d 845 I (AZZ24E) 75,000 0 75,000
= 75,000
308 MtXIEHMSOIH 75,000 0 75,000
= 75,000
TAXNEHBEEXS 75,000 0 75,000
OXYGHe WERIA 25 X (SFAl)
75,000, 000 75,000
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| = 75,000
SESSFUGSANRAZLE (AT E) 390,000 780,000 A 390,000
= 300,000
< 90,000
403 Mt SHHSA=0l& 390,000 780,000 390,000
= 300,000
< 90,000
01 HIXSHMA2E X 390,000 780,000 A 390,000
OBY PIX SES=HMANT £4
390,000, 000 390,000
= 300,000
< 90,000
SENE SSUASXE (F)(HEAY) 189,200 604,200 A 415,000
201 Let24d] 42,000 42,000 0
01 At 22/l 42,000 42,000 0
O=sE&4tgst D188t A #= 42,000,000 42,000
202 o4dl 8,000 18,000 A 10,000
01 = LH o4 1l 8,000 8,000 0
OsE4atdst J1=l8It MAH 2= 8,000,000 8,000
306 =93 80,000 480,000 A400,000
01 &3 80,000 480,000 400,000
Os&E4tdst 2128 A = 80,000,000 80,000
308 A EHHSOIA 59,200 64,200 A5,000
01 HXNHHNBHEELS 59,200 64,200 A5,000
Os&4gs D88t A 7= 59,200,000 59,200
SsENE SN () (HEAY) 170,000 570,000 A 400,000
306 43 170,000 570,000 A 400,000
01 &3 170,000 570,000 A 400,000
O=sZSs=Sg¢gisE S22l NEst A&
170,000, 000 170,000
SENE SEFLAGSRR (AZRE)(EEAY) 4,253,900 4,858,600 A 604,700
403 MHXSHHSA=0l& 4,253,900 4,858,600 A 604,700
01 HXSHMA=E X 4,253,900 4,858,600 A 604,700
SESSBMYRE MADIY BY U S4
3,422,000, 000 3,422,000
O=8FHAE ME dAMXA 395,300,000 395,300
O=sZs=gdtdst K& 436,600, 000 436,600
SEMASHALG (Z)(HEAY) 20,000 32,000 A 12,000
201 Let24d] 12,000 24,000 A 12,000
01 At 22l 12,000 24,000 A 12,000
OENMY 4 12,000, 000 12,000
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2N sEE2E
HE: sEMEEY JNEE
©el: SEMATY (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
202 o4 | 8,000 8,000 0
01 2L I 8,000 8,000 0
OSENMNY &4 8,000,000 8,000
SFEAASHAY (AZRE)(HEAIY) 672,000 1,064,000 A 392,000
403 XX SHHS K20 & 672,000 1,064,000 A 392,000
01 XIS A=Z2E X 672,000 1,064,000 A 392,000
O=4 DR0IE 28 28AY
200,000,000 200,000
OFY HYAY s2& 84S 472,000,000 472,000
SESSEAMY S 199,425 583,250 A\ 383,825
306 =2 100,000 400,000 A 300,000
o1 s 3 100,000 400,000 A 300,000
O=sEsEeidtY AL 29 100,000,000 100,000
307 2Iz2to| & 34,425 38,250 N 3,825
02 QIZFAAAIE E X 34,425 38,250 N 3,825
el SH3AIE K& 34,425,000 34,425
403 XX SHHS K20 & 65,000 145,000 A 80,000
01 XIS A=Z2E X 65,000 145,000 A 80,000
Q&AL ENW AHESE XRHAS 15,000,000 15,000
OFEF Xs3t AlE 2EAY 40,000,000 40,000
AUXMH OLHEE HZEAIE 2SAMY
10,000,000 10,000
AZATH & BDI2484 4 712,400 0 712,400
J| 548,000
= 164,400
403 XX SHHS K201 & 712,400 0 712,400
J| 548,000
= 164,400
01 AIXISHHMA=2E X 712,400 0 712,400
OAEAM ¥ BB MY 4 712,400,000 712,400
J| 548,000
= 164,400
CSAM DB = 2,552,677 2,148,623 404,054
= 1,246,689
& 1,305,988
==Y SSMAS TN (HESY)(HEAIY) 170,000 170,000 0
403 XX SHHS K20 ™ 170,000 170,000 0
01 XIS A=Z2E X 170,000 170,000 0
OLZ: HEsdAd 22de X
170,000,000 170,000
HEeotseld s A 27,140 27,384 N\ 244




2N sEERED
HH: sEMEEHY NS
Sl SmAM I8 RE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 23,000
< 4,140
308 XX EHHSOIA 27,140 27,384 A 244
= 23,000
< 4,140
01 HIXNHHBNEES 27,140 27,384 A 244
OsEMEF20IS A3t 27,140,000 27,140
= 23,000
< 4,140
SEMS2ZEH 330,865 328,308 2,557
201 Let2d] 15,300 15,300 0
01 At 22l 15,300 15,300 0
OsENgs20s 29 243t 15,300, 000 15,300
203 YR =&l 2,565 2,708 A 143
03 AIHF=XH S =AH| 2,565 2,708 A 143
O=s&g8ge =2 2,565,000 2,565
307 glz2+ol & 295,000 295,000 0
02 QIZtE M AHE X 295,000 295,000 0
OE=sux 43 XN 85,000, 000 85,000
Oneity HAEE 210,000, 000 210,000
308 X EHSOIA 18,000 15,300 2,700
01 HIXNHHNBMNEES 18,000 15,300 2,700
O=s=HMEgs2d0tS2 s2d8 A X2 18,000,000 18,000
sE22=1 84 & 1,096,372 1,142,181 A 45,809
= 847,689
< 248,683
308 XXM SO A 1,096,372 1,142,181 A 45,809
= 847,689
< 248,683
01 AXHHBILEES 1,096,372 1,142,181 A 45,809
OsENEs202 AARE XN& 947,735,000 947,735
= 728,279
< 219,456
Os=sEdgs2i0is 280t XA 57,680,000 57,680
2 49,443
< 8,237
oxdte sg22 XN& 78,000,000 78,000
= 60,000
< 18,000
OsHEUEANEIA AN E 12,957,000 12,957
= 9,967
< 2,990
SESSHEAMN A XA (HSAY) 57,500 57,500 0
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MY SEMEBY JINHE
S Esad JIgE = (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 57,500 57,500 0
01 HIXNHHBHNEELES 57,500 57,500 0
Os=sEZ3SHa AL 22A XI& 57,500,000 57,500
ANty ddygsd FA2R 25 N2 550,000 360,000 190,000
= 275,000
< 275,000
307 glz2+ol & 550,000 360,000 190,000
= 275,000
< 275,000
02 QB HAANEEE 550,000 360,000 190,000
Osgu J1gy 28 AAZst XI& 550,000,000 550,000
=2 275,000
< 275,000
sE=H KA 85,100 63,250 21,850
= 74,000
= 11,100
308 XtXIEHHSOIA 85,100 63,250 21,850
= 74,000
= 11,100
01 HXNHHNBHELS 85,100 63,250 21,850
Os&=H N3 85,100,000 85,100
= 74,000
< 11,100
sERS A& 235,700 0 235,700
= 27,000
= 208,700
308 XX EHSOIA 65,700 0 65,700
= 27,000
< 38,700
01 HIXNHHNBNEELS 65,700 0 65,700
Os&Ess XN 35,100
= 27,000
< 8,100
O=sZER&dl XA 30,600, 000 30,600
403 Mt SHHSA=0l& 170,000 0 170,000
01 HXSHMA=LE L 170,000 0 170,000
O2XNNE =FAE E=3A 170,000, 000 170,000
Heas(s=g2) 924,000 609,000 315,000
HWEHAHXES(s=E2D) 924,000 609,000 315,000
NEIHEIS Ml== Ol K&t 924,000 386,750 537,250
705 ==&l 34 924,000 386,750 537,250
04 Al - EXHHLII S0 == 0l Kt &t &t 924,000 386,750 537,250
OF=&ZMH 631,750,000 631,750
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